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QUESTION 1

Using the Finesse REST APIs coupled with the Finesse natifications, which two use cases can be accomplished?
(Choose two.)

A. Add video calling capabilities to an existing application such as a CRM.
B. Add outbound call capabilities to an existing application such as a CRM.

C. Develop a secure monitoring application that captures the agent\\'s states and dialog information of every agent in
the contact center system.

D. Develop a fully functioning custom agent desktop that has call control, workflows, and client logging.

E. Develop a fully functioning custom agent desktop for chat, email, and SMS interactions including the content of the
chat, email, and SMS.

Correct Answer: BE

QUESTION 2

<?xml wversion="1.07"7?>
<inboundDialPlanRules total="3">
<inboundDialPlanRule id="eedeecab5-c73b-44le-bc5a-71d9b256180b">
<domain>cms.heleus. lab</domain>
<priority>100</priority>
</inboundbDialPlanRule>
<inboundDialPlanRule id=%"647511a0-0c7d-484f-8796-eeb2dd3128f1">
<domain>space_heleus.labh</domain>
<priority>2</priority>
</inboundDialPlanRule>
<inboundDialPlanRule id="2cbh662ab-Teba-45a8-al33-5fddecechbs097>
<domain>cms.lab</domain>
<priority>l</priority>
</inboundDialPlanRule>
</inboundDialPlanRules>

Refer to the exhibit. Which API call made to Cisco Meeting Server removes the inbound dial plan rule matching cms.lab
domain?

A. DELETE to /api/vl/inboundDialPalnRules/ with body attribute id="2c5662ab-7e5a-45a8-a133-5f4d6c6cb509".

B. DELETE to /api/vl/inboundDialPalnRules/2c5662ab-7e5a-45a8-a133-5f4d6c6cb509.

C. PUT to /api/vl/inboundDialPalnRules/2c5662ab-7e5a-45a8-a133-5f4d6c6cb509 with body attribute delete="True".
D. PUT to /api/vl/inboundDialPalnRules/2c5662ab-7e5a-45a8-a133-5f4d6¢c6¢cb509.

Correct Answer: A
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QUESTION 3

A Webex Teams bot receives a Webhook payload, which notifies the bot that a message was created in a space. Which
two API requests must be issued for the bot to answer the author of the message? (Choose two.)

A. POST /vl/messages
B. GET /vl/messages/{messageld}
C. GET /vl/webhooks/{webhookld}
D. PUT /vl/messages/{messageld}
E. POST /vl/webhooks

Correct Answer: CE

QUESTION 4

1 POST /WBXService/XMLService/LstsummaryUser HTTP/1.1

2 Content-Type: application/xml

3 Host: api.webex.com

4 Content-Length: 974

5

6 <?xml version="1.0” encoding="UTF-8"?>2 <serv:message xmlns:serv="http://wwww.webex.com/schemas/2002/06/service”
7 xmlns:xsi="http://www.w3.0org/2001/XMLSchema-instance”>

8 <header>

9 <securityContext>
10 <siteName>apidemoeu</siteName>
11 <webExID>janedoefexample.com</webExID>
12 <sessionTicket>AAABbSLTcGCAABUYAOGAKEgyU</sessionTicket>
13 </securityContext>
14 <action>java:com.webex.service.binding.meeting.LstsummaryUser</action>
15 </header>
16 <body>
17 <method>java:com.webex.service.binding.meeting.LstsummaryUser</method>
18 <bodyContent xsi:type="java:com.webex.service.binding.meeting.LstsummaryUser”>
19 <webExId>{ {WEBEXID} }</webExId>
20 </bodyContent>
21  </body>

22 </serv:message>

Refer to the exhibit. A Webex Meetings XML APl HTTP request message with several invalid portions is shown. Which
reference points to a line in the exhibit that correctly indicates that this is a LstsummaryUser request?

A. line 17
B. line 1

C.line 18
D. line 14

Correct Answer: B
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complexType XCallingSearchSpaceMember

wiayain

namespace

hitp:fwww._cisco. com/AXLIAPIM2.5

childran

routeP onN. in

used by

elements XCss/msmbersimember UpdateCssR

source

<xsd.complexType name="XCallingSearchSpaceMember”>
<xsd:sequence minOccurs="0">
<xsd:element name="routePartiionName" type="axlapi:XFkType" minOccurs="1" maxOccurs="1"/>
<xsd:element name="Index"” type="axlapi:Xinteger” minOccurs="1" maxOccurs="1"f>
<Ixsd:sequence>

</nsd:complex Type>

element XCallingSearchSpaceMember/routePartitionName

diagram
type | axlapi:XFkType
properties | content complex
altributes Name Type Use Default Fieed Annotation
uuid axlapiXUUID  optional
source | <xsd:element name="routePartitionName" type="axlapi:XFkType” minOccurs="1" maxOccurs="1"/>

elemert XCallingSearchSpaceMember/routePartitionName

o
type | axlapl: Xinteger
properties | contenl simple
attribuias Name Type Use Default Fied Annotation
uuid axlapi:XUUID  optional
source | <xsd:element name="Index" type="axlapi:Xinteger” minOccurs="1" maxOccurs="1"/>

Refer to the exhibit. When a Calling Search Space is updated and a new member is added, how is a member defined?
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A <member uuid="{FEEOCDOD-EC18-F16D-32E1-8(COATAIDED2]) ">
<routePartitionName wuid=*{S5F2B2FFD-CT02-4F30-53EF5-60110B56B939}*>pt translation-
pattern n</routePartitionNams> -
<index>l</index>
</member>

B. <member uuid="{7&E0CDO0-EC18-F1l6D-32E1-80CIATAIDED2) ">
<routePartitionName>
<unids>"|{EF232FFD-CTD2-4F30-9EF5-60110BE6EE239 )} "< funid>
<name>pt translation-pattern n</name>
{fruutEParEitianNameb N
<index>l</index>
< fmembers

C. <member>

<routePartitionName wmid-"{5F2B2FFD-C7D2-4F30-9EF5-50110B56B539)">pt_ translation-
pattern n</routePartitionMName>
<index>1</indox>
</member>

D. =membar<>
<routePartitionName wuid="{S5F2B2FFD-CTDZ2-4F30-9EF5-60110B56R939) %>
<nama}pt_ﬁranslatinn—patterq_n<fnama}
</routePartitionName>
<index>1</findax>
< /nember>

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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